Scottish English Vowel Length Rule

In this variety of English, the vowel phonemes shown below each have a long allophone and a
short allophone, conditioned by the following consonant. (Not all vowel allophones are
exemplified in this data set.)

Allophone pair Vowel is long Vowel is short
[i:], [i] [ iz ] ‘tease’ [ pis ] ‘peace’
[1i6 ] ‘Leith’
[u:], [u] [ fud ] ‘food’
[e:], [e] [ bers ] ‘beige’
[a1], [A] [ 1amv ] ‘love’
[o:], [O] [ rod ] ‘road’
[ hom ] ‘home’
[az], [a] [ raf ] ‘rash’
[ae:], [ai] [ rae:d | ‘writhe’ [ 1aif | life’
[ nain | ‘nine’
(D) What is the class of consonants that cause the preceding vowel to be long? List the
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consonants in this class, and then express this class using features.

Consider these four words: [ boirr] ‘boar’ [ mail | ‘mile’

[karr] ‘car [mel] ‘mail’

These words tell us something important about the feature specification for the liquids [1]
(lateral) and [r] (trill) in Scottish English. What is it?



